

Informazione Regolamentata n. 0021-9-2021		ata/Ora Ricezione 25 Gennaio 2021 12:54:15	MTA
Societa'	:	ASTM S.p.A.	
Identificativo Informazione Regolamentata	:	141701	
Nome utilizzatore	:	AUTTOMIN03 - Vol	ре
Tipologia	:	2.2	
Data/Ora Ricezione	:	25 Gennaio 2021 12	2:54:15
Data/Ora Inizio Diffusione presunta	:	25 Gennaio 2021 12	2:54:16
Oggetto	:	THE CHAIRMAN, C MANAGERS OF TH ACQUIRE SHARES	
Testo del comunicato			

The Chairman, CEO and strategic managers of the Company acquire shares.





PRESS RELEASE

THE CHAIRMAN, CEO AND STRATEGIC MANAGERS OF THE COMPANY ACQUIRE SHARES

Tortona, 25 January 2021. ASTM SpA, a world leader in the management of motorway networks and in the design and construction of large infrastructural works, informs that, as already disclosed to the Market through the official Internal Dealing communications prepared and disseminated pursuant to Law, the top management of the Company, in the persons of the Chairman of the Board of Directors Alberto Rubegni, the Chief Executive Officer Umberto Tosoni, as well as such managers including the Chief Financial Officer Alberto Gargioni, and the Directors of Finance Stefano Viviano, of Accounting and Control Alberto Pernigotti and of Investor Relations & Communications, Lawrence Young Kay, confirm their confidence in the Company and its growth prospects, purchasing a total of **39,564 shares** in the period between 21 January and today.

Name	Date of the	Number of Shares	Average Price	Countervalue
	Purchases	Purchased	(€)	(€)
Alberto Rubegni	21/01/2021	20,200	18.70	377,739.29
	22/01/2021	5,600	18.14	101,581.47
Umberto Tosoni	21/01/2021	5,100	18.70	95,371.46
Alberto Gargioni	22/01/2021	5,400	18.95	102,330.00
Stefano Viviano	22/01/2021	1,500	18.20	27,300.00
Alberto Pernigotti	22/01/2021	1,500	18.09	27,141.25
Lawrence Y. Kay (*)	21/01/2021	264	19.00	5,014.68
Totale		39,564		736,478.15

In this regard, a brief description of the purchases made is hereby provided.

() For the sake of completeness, it should be noted that on 21/1/2021 Dr. Kay, through a pension fund, has issued an irrevocable order for the purchase of no. 2,600 ASTM shares which will presumably be executed today.

The ASTM Group is a world leader in the management of motorway networks and in the design and construction of large infrastructural works. Present in over 20 countries and with approximately 13,000 employees, the Group's activities are focused on three main areas: management of motorway infrastructures (concessions), design and construction of major works (EPC - Engineering, Procurement and Construction) and technology applied to mobility of transport. In the area of concessions, the Group is the second largest operator in the world in the management of motorway infrastructures with a network of approximately 4,600 km of network, of which 1,423 km in Italy, 3,087 km in Brazil through the company Ecorodovias, and 84 km in the United Kingdom through participation in Road Link.

The Shares of ASTM SpA are quoted on the Italian Telematic Market of the Borsa Italiana (Ticker: Bloomberg: AT IM – Reuters: ATMI.MI; ISIN IT0000084027).

ASTM S.p.A. Corso Regina Margherita, 165 - 10144 Torino Tel. (+39) 011 4392111 - Fax: (+39) 011 4392218 <u>https://www.astm.it/</u> PEC: astm@legalmail.it - E-mail: <u>astm@astm.it</u> Bloomberg: AT IM – Reuters: ATMI.MI – ISIN: IT0000084027





Contacts					
Investor Relations	External Relations	Rapport with the Media			
Lawrence Y. Kay	Giovanni Frante	Barabino&Partners			
Tel. (+39) 335 810 4434	Tel. (+39) 0131 879309 Raffaella Nani				
E-mail: investor.relations@astm.it	E-mail: gfrante@astm.it	Tel. (+39) 335 1217721			
		E-mail: r.nani@barabino.it			
		Alice Brambilla			
		Tel. (+39) 328 2668196			
		E-mail: a.brambilla@barabino.it			
		Agota Dozsa			
		Tel. (+39) 338 7424061			
		E-mail: a.dozsa@barabino.it			